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Nbd‡ji m~Îvewj I Abywm×všÍ 

(a + b)
3
 = a3+ 3a2b + 3ab2 + b3 

   = a3 + b3 + 3ab(a + b) 

(a – b)
3
 = a3 – 3a2b + 3ab2 – b3 

   = a3 – b3 – 3ab (a – b) 

a3 + b3 = (a + b) (a2 – ab + b2) 

 a3 – b3 = (a – b) (a2 + ab + b2) 

šÍ a3 + b3 = (a + b)3 – 3ab (a + b) 

šÍ a3 – b3  (a – b)3 + 3ab (a – b) 

cvVwfwËK enywbe©vPwb cÖ‡kœvËi
 

42 : Nbd‡ji m~Îvewj I Abywm×všÍ 

mvaviY enywbe©vPwb cÖ‡kœvËi 

 a = 2, b = – 1 a
3
 + 3a

2
b + 3ab

2
 + b

3

K 0  1 M 2 N 3 

 a
3
 + b

3

 (a + b)
3
  3ab (a + b) L (a  b)

3
 + 3ab (a + b) 

M (a + b) (a
2
 + ab + b

2
) N (a  b) (a

2
 + ab + b

2
) 

 a  b

K a
3
  b

3
 + 3ab (a  b)  a

3
  b

3
  3ab (a  b) 

M a
3
 + 3a

2
b  3ab

2
 + b

3 N (a  b) (a
2
  ab + b

2
)
 

 a
3
  b

3

K (a + b)
3
  3ab(a + b) L (a + b)

3
  3ab(a  b) 

 (a  b)
3
 + 3ab(a  b) N (a + b)(a

2
  ab + b

2
) 

 a = 2, b = 1  8a
3
 + 36a

2
b + 54ab

2
 + 27b

3

 1 L 1 M 2 N 2 

 x  1 = 1 xy = 30 x
3
  y

3

K 81  91 M 100 N 110 

 x
3
  y

3
 = (x – y)

3
 + 3xy(x – y) 

  = (1)
3
 + 3  30  1 = 1 + 90 = 91 

 x + y = 3 x
3
 + y

3
 + 9xy

K 3 L 9 M 18  27 

 a = 5  a
3
 + 6a

2
 + 12a +1 

K 338  336 M 334 N 332 

a
3
  + 6a

2
 + 12a + 1  

  = (a)
3
 + 3.a

2
.2 + 3.a.(2)

2
 + (2)

3
 –7 

  = (a + 2)
3
 – 7 = (5 + 2)

3
 – 7 = (7)

3
 – 7 = 343 – 

7 = 336 

 p + 
1

p
 = 2  









p
3
  

1

p
3   









p
3
 + 

1

p
3  

 0 L 2 M 32 N 40

 x + 
1

x
 = 3  x

3
 +

1

x
3  + 2

K 3 3  2 M 2 + 3 N 3 2 

x
3
 + 

1

x
3 + 2 =  









x + 
1

x

3

3.x. 
1

x
 x + 

1

x
 + 2 

  = ( 3)
3
 – 3 .1. 3 + 2 = 3 – 3 + 

2 = 2 

 4x  3 = 5  64x
3
  27  180x



 125 L 110 M 75 N 25

 








x + 
1

x

2

 = 3 x
3
 + 

1

x
3 =  

K ( )3
3
 + 3 L ( )3

3
  3  

 M 3 + 3  N 0 

 x = 2a  3b a = 2, b = 1 x
3
  

K 3 L 2  1 N 4 

 3a  
3

a
 = 6 a  

1

a
  

K 3  2 M 4 N 5 

 a  
1

a
 = 3 a

3
  

1

a
3 =  

K 18 L 27  36 N 45 

 x + y = 3, x  y = 2 x
3
 + y

3
  

K 18  9xy L 18 + 9xy  
63

4
 N 27 + 

3xy 

 (a + b)
3

K 3 a + b) L (a + b) (a  b)
2 

M 3(a + b)(a + b)  (a + b)(a + b)
2
 

 a + b = 10, ab = 16 a3 + b3 = 

K 620  520 M 420 N 320 

 a + 
1

a
 = 3 a

3 
 + 

1

a
3  =  

K 8 L 10 M 15  18 

 x  
1

x
  = 1  x

3
  

1

x
3  = 

K 6 L 7 M 8  4

x
3
  

1

x
3 = (x  

1

x
)
3 
 + 3. x. 

1

x
  (x  

1

x
) =  1

3
 + 3. 1. 

1 = 1 + 3 = 4 

 a  b = 10  ab = 30  2(a
3
  b

3
) =

K 380 L 400  3800 N 4000

enyc`x mgvwßm~PK enywbe©vPwb cÖ‡kœvËi  

 

i. a
3
 + b

3
 = (a + b)

3
  3ab (a + b) 

ii. (a – b)
3
 = (a  b) (a

2
  2ab + b

2
) 

 iii. a  b = 3 ab = 1 a
3
  b

3
 = 27 

 

 i  ii L ii  iii M i  iii N i, ii  iii

 i. 

ii. (a – b)(a
2
 – 2ab + b

2
) 

  = (a – b)(a – b)
2
 = (a – b)

3
 

  = 

  iii. a
3
 – b

3
 = (a – b)

3
 + 3ab(a – b) = 3

3
 + 3  

(–1)  3  

  = 27 – 9 = 18  

  (a  b)
3



i. (a  b)
3
 = a

3
  b

3
 +3ab(a  b) 

ii. (a  b)
3
 = a

3
  3a

2
b + 3ab

2
  b

3 

 iii. (a  b)
3
 = a

3
  b

3
  3ab(a  b)

 

 

K i  ii  ii  iii M i  iii N i, ii  iii

Awfbœ Z_¨wfwËK enywbe©vPwb cÖ‡kœvËi 



x + y = 2

 x
3
 + y

3
 + 6xy

K 2 L 4 M 6  8 

x
3
 + y

3
 + 6xy = x

3
 + y

3
 + 3(x + y)  xy 

  = x
3
 + y

3
 + 3xy(x + y) 

  = (x + y)
3
 = (2)

3
 = 8 

 xy = 1 x
3
 + y

3

 2 L 4 M 6 N 7 



a  
1

a
 = 4 a  

1

a
 = 3

 a  
1

a

K 36 L 54 M 9  27 









a – 
1

a

3

 = (3)
3
 = 27 

 a
3
 + 

1

 a
3 

K 66 L 54 M 56  52 

a
3
 + 

1

 a
3 = 









a + 
1

a

3

3. a. 
1

a
 








a + 
1

a
 

  = 4
3
  3.1.4 = 64  12 = 52 

43 : Nbd‡ji mv‡_ m¤ú„³ AviI ̀ yBwU m~Î 

mvaviY enywbe©vPwb cÖ‡kœvËi 

 a
3
 + b

3
 



 (a + b) (a
2
  ab + b

2
) L (a + b) (a

2
 + ab + b

2
)

 

M (a  b) (a
2
  ab + b

2
) N (a  b) (a

2
 + ab + b

2
) 

 a
3
  b

3
 

K (a  b) (a
2
  ab + b

2
)   (a  b) (a

2
 + ab + b

2
) 

M (a + b) (a
2
 + ab + b

2
) N (a + b) (a

2
  ab + b

2
) 

 a = 1, b = 1  (a
2
 + b

2
) (a

4
  a

2
b

2
 + b

4
)

K 1  2 M 3 N 4 

 a
2
 + b

2
)(a

4
 – a

2
b

2
 + b

4
)  

  = a
2
 + b

2
){(a

2
)
2
 – a

2
.b

2
 + (b

2
)
2
} 

  = (a
2
)
3
 + (b

2
)
3 

= a
6
 + b

6
 = 1

6
 + ( 1)

6
  = 1 + 1 = 

2 

 a = 4 b = 1 (a  b)(a
2
 + ab + b

2
)

 

K 65 L 64  63 N 62 

 a = 4 8a
3
 + 6a

2
 + 6a + 1  

K 216  633 M 512 N 729 

 a
3
  b

3
  

K (a  b)
3
  (a  b)

3
 + 3ab(a  b)  

 M (a  b)
3
  3ab(a  b) N (a + b)

3
 + 

3ab(a + b) 

 3x + 
1

2x
 = 3 27x

3
 + 

1

8x
3 =  

K 
9

8
L  

9

8
  

27

2
 N

 27

8
 

enyc`x mgvwßm~PK enywbe©vPwb cÖ‡kœvËi 

 

i. (x + a) (x
2
  ax + a

2
) = x

3
 + a

3 

ii. (x  a) (x
2
 + ax + a

2
) = x

3
  a

3 

 iii. x
3
  1 = (x + 1) (x

2
  x + 1) 

 

 i  ii L i  iii M ii  iii N i, ii  iii 

Awfbœ Z_¨wfwËK enywbe©vPwb cÖ‡kœvËi 



x
2
 + 2, a

2
 + b

2
, x

4
  2x

2
 + 4, a

4
  a

2
b

2
 + b

4

 x = 1

K 3 L 6  9 N 11

x = 1  x
6
 + 8 = (1)

6
 + 8 = 9

 a = 1, b = 1

K 1  2 M 3 N 4

a = 1, b = 1  a
6
 + b

6
 = (1)

6
 + (1)

6
 = 1 

+ 1 = 2 

 a + b = 4 a
3
 + b

3
 + 12ab

 K 12 L 25  64 N 128 

 7 

 K 4 7   7 7  M 8 7  N 10 7 

 a
3
 + b

3

  (a + b) (a
2
  ab + b

2
) L (a  b) (a

2
 + ab 

+ b
2
)

 M (a + b)
3
 + 3ab (a + b)N (a  b) (a

2
  ab + b

2
) 

 x = 7 x
3
 + 6x

2
 + 12x + 1

 K 242 L 422  622 N 722 

 a  b = 4 ab = 0 a
3
  b

3

 K 4 L 16  64 N 76 

 a
3
  b

3
 = 27, a  b = 3  ab = 

K 6 L 3 M 1  0

a
3
  b

3
 = (a  b)

3
 + 3ab (a  b)  

  27 = 3
3
 + 3ab  3 

  27 = 27 + 9ab 

  9ab = 0  

   ab = 0

 x  y = 3  x
3
  y

3
  9xy

K 9 L 18  27 N 36

 (8)
3
 = ?

K 24 L 24  512 N 512

 3x + 2y = 13  xy = 6  27x
3
 + 8y

3
 

 793 L 1365 M 1443 N 3601

 p  
1

p
 = 3  p

3
  

1

p
3 

K 18 L 33  36 N 63

 5 

K 5  5 5 M 3 5 N 25 5 

 x + y = 5  xy = 2  x
3
 + y

3
 

K 5  3 10 L 2 5   10  



 5 5  3 10 N 5 5  3 2  

 x = 7  x
3
 + 6x

2
 + 12x + 1  

 722 L 622 M 422 N 242 

 x
2
 + 2x + 1 = 0

i. x
2
 + 

1

x
2  = 2 ii. x

3
 + 

1

x
3  =  2 

iii. x
2
  

1

x
2 = 0

  i ii L i iii M ii iii N i, ii iii 

x  
1

x
  = 2 

 








x + 
1

x

2

 

 K 0 L 4 M 6  8

 x
3
  

1

x
3 

  14 L 12 M 8 N 2 

 

i. x
2
  2x  1 = 0 ii. x = 1  2  

iii. x 

 K i ii L ii iii M i iii  i, ii iii 

x
2
 + 1 = 2x

 








x  
1

x

2
 

  0 L 1 M 2 N 4 

 








x
3
 + 

1

x
3  

 K 1  2 M 3 N 4 

p + q = 3 p  q = 2 

 p
3
 + q

3
 

  27  9pq L 27 + 9pq M 18  9pq N

18 + 9pq 

 pq

 K
9

5
  L

5

9
  M

4

5
  

5

4
  

m„Rbkxj cÖkœ I mgvavb

 a + 
1

a
  = 2 a > 0 

a
2
  2a + 1 = 0

a
2
  

1

a
2  

a
3
 + 

1

a
3 = a

4
 + 

1

a
4  

  1bs cª‡kœi mgvavb   

a + 
1

a
 = 2 

a
2
 + 1

a
 = 2 

  a
2
 + 1 = 2a 

   a
2
  2a + 1 = 0

a + 
1

a
 = 2

 








a + 
1

a

2
 = (2)

2
 

 








a  
1

a

2
 + 4.a.

1

a
 = 4 

 








a  
1

a

2
 + 4 = 4 

 








a  
1

a

2
 = 4  4 

 








a  
1

a

2
 = 0 

 








a  
1

a
 = 0 

 a
2
  

1

a
2 = 









a + 
1

a 







a  
1

a
 = 2.0 = 0 

   a
2
  

1

a
2 = 0. 

a
3
 + 

1

a
3 = 









a + 
1

a

3
  3.a.

1

a
 








a + 
1

a
 

  = (2)
3
  3.2 = 8  6 = 2 

 a
4
 + 

1

a
4 = (a

2
)
2
 + 






1

a
2

2
 = 








a
2
 + 

1

a
2

2
   2.a

2
. 

1

a
2 

  = 
















a + 
1

a

2
  2.a.

1

a

2

  2 = {(2)
2
  2}

2
  2 



  = (4  2)
2
  2 = (2)

2
  2 = 4  2 = 2 

 a
3
 + 

1

a
3 = a

4
 + 

1

a
4

 b
2
  2b  1 = 0 b

b - 
1

b
 









b
2
 + 

1

b
2  








b
3
  

1

b
3  

b
4
  1

b
2   = 4 2 .  

  2bs cª‡kœi mgvavb   

b
2
  2b  1 = 0

 b
2
  1 = 2b 

 
b

2
  1

b
 = 2 

 
b

2

b
  

1

b
 = 2 

 b  
1

b
 = 2 (Ans.) 









b
2
 + 

1

b
2  = 









b  
1

b

2
 + 2.b.

1

b
 

       = (2)
2
 + 2 = 4 + 2 = 6 

 








b
3
  

1

b
3  = 









b  
1

b

3
 + 3.b.

1

b
 








b  
1

b
 

   = (2)
3
 + 3.2 = 8 + 6 = 14 

  = 








b
2
 + 

1

b
2  








b
3
  

1

b
3  

  = 6 14 = 84 (Ans.) 

b  
1

b
 = 2

 








b  
1

b

2
 = 4 

 








b + 
1

b

2
  4.b.

1

b
 = 4 

 








b + 
1

b

2
 = 4 + 4 

 








b + 
1

b

2
 = 8 

 








b + 
1

b
 = 2 2 

 
b

4
  1

b
2  = 

b
4

b
2  

1

b
2 = b

2
  

1

b
2 = 









b + 
1

b
 








b  
1

b
 

  = 2 2  2 

= 4 2 = 

 
b

4
  1

b
2  = 4 2

 x + y, x  y 

x  y = 3  xy = 1 x
3 
 y

3
 

x + y = 3 x
3
 + y

3
 + 9 xy = 27

 

x = 3 (x  y)
3
 + (x + y)

3
 + 6x (x

2
  y

2
) =  

  3bs cª‡kœi mgvavb   

x  y = 3, xy = 1 

  x
3
  y

3
 = (xy)

3
 + 3xy (xy) 

  = (3)
3
 + 3  1  3 [

27 + 9 = 36 (Ans.) 

x + y = 3 

 x
3
 + y

3
 + 9xy 

  = (x + y)
3
 3xy(x + y) + 9xy 

  = (3)
3
  3xy  3 + 9xy  

  = 27  9xy + 9xy 

  = 27 = 

 x
3
 + y

3
 + 9xy = 27 

(x  y)
3
 + (x + y)

3
 + 6x (x

2
y

2
) 

  = (x  y)
3
 + (x + y)

3
 + 6x(x + y) (x  y)  

  x  y = a x + y = b 

  x  y = a 

  x + y = b  

       2x       = a + b 

 = a
3
 + b

3
 + 3ab (a + b) = (a + b)

3
  

  = (x  y + x + y)
3 

 [ a b 

= (2x)
3 

= 8x
3
 

  =8  (3)
3 

 [ x = 3] 

  = 8  27 = 216 

  (x y)
3
 + (x + y)

3
 + 6x (x

2
 y

2
) = 216 (Ans.) 

 3x  
3

x
 = 2

x  
1

x
 

27x
3
  

27

x
3  

27 








x3 + 
1

x3 26 10  



  4bs cª‡kœi mgvavb   

3x  
3

x
 = 2 

  3 








x  
1

x
 = 2 

   x  
1

x
 = 

2

3
 (Ans.) 

3x  
3

x
= 2 

 27x
3
  

27

x
3  = (3x)

3
  





3

x

3

 

  = 








3x  
3

x

3

+ 3.3x. 
3

x
 








3x  
3

x
 

  = (2)
3
 + 27.2 

 8 + 54 = 62 (Ans.) 

x  
1

x
 = 

2

3
 

 








x + 
1

x

2 

= 








x  
1

x

2

4x. 
1

x
 

  = 





2

3

2

4 = 
4

9
 + 4 

  = 
4 + 36

9
 = 

40

9
 

  x + 
1

x
 = 

40

9
 = 

2 10

3
 

 27








x3 + 
1

x3 = 27 
















x + 
1

x

3
  3.x. 

1

x
 








 x + 
1

x
 

  = 27 














2 10

3

3

  3.1. 
2 10

3

27 






80 10

27
 2 10  

  = 27 10 






80

27
  2  = 27 10 







80 54

27
 

  = 27 10  
26

27
 = 26 10 

 27 








x3 + 
1

x3 26 10 [

 x, x + y, x  
1

x
 

x = 1 27x
3
 + 54x

2
 + 36x + 3

x  
1

x
 = 5  x

3
  

1

x
3 = 

x + y = 3  x
3
 + y

3
 + 9xy 27  
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27x
3
 + 54x

2
 + 36x + 3 

 = (3x)
3
 + 3.9x

2
.2 + 3.3x.2

2
 + 2

3
  5 

 = (3x + 2)
3
  5 

 = (3.1 + 2)
3
  5   [x  

 = 5
3
  5 

 = 125  5 

 = 120  (Ans.)  

x  
1

x
 = 5 

  x
3
  

1

x
3 = 









x  
1

x

3

 + 3.x.
1

x
 








x  
1

x
 

  = 4
3
 + 3.5 = 64 + 15 = 79 (Ans.) 

 x + y = 3 

  = x
3
 + y

3
 + 9xy  

  = x
3
 + y

3
 + 3.3xy 

  = x
3
 + y

3
 + 3(x + y) xy 

  = x
3
 + y

3
 + 3xy(x + y) 

  = (x + y)
3 

= 3
3 

= 27 = 

x
3
+ y

3
 + 9xy = 27 

 a + b = 3, a  b = 5, ab = 2   a
2
 + b

2
 = c

2 

a
3
 + b

3
 =

a
6
  b

6
 

 a
6
 + b

6
 + 3a

2
b

2
c

2
 = c

6  
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 a + b = 3 

  a
3
 + b

3
 = (a)

3
 + (b)

3 
= (a + b)

3
  3ab (a + b) 

  = 3
3
  3. 2. 3 [ ab = 2] 

  = 27  18 = 9  (Ans.) 

a
6
  b

6
 = (a

3
)
2
  (b

3
)
2
 

  = (a
3
 + b

3
) (a

3
  b

3
) 

  = (a
3
 + b

3
) {(a  b)

3
 + 3ab(a  b)} 

  = 9  {(5)
3
 + 3 . 2 . 5}  [ a

3
 + b

3
 = 9] 

  = 9  {125 + 30} = 9  155 = 1395 (Ans.) 

a
2
 + b

2
 = c

2
 = a

6
 + b

6
 + 3a

2
b

2
c

2
 

  = (a
2
)
3
 + (b

2
)
3
 + 3a

2
b

2
c

2
 

  = (a
2
 + b

2
)
3
  3a

2
.b

2
.(a

2
+b

2
) + 3a

2
b

2
c

2
 



  = (c
2
)
3
  3a

2
b

2
c

2
 + 3a

2
b

2
c

2
 

  = c
6
  3a

2
b

2
c

2
 + 3a

2
b

2
c

2
 

  = c
6 

=  

  a
6
 + b

6
 + 3a

2
b

2
c

2
 = c

6
  

 x + 
1

x
 = 3

x  
1

x
 = 

x
3
  

1

x
3 = 8 5

x
6
  

1

x
6   
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x + 
1

x
 = 3 

  








x  
1

x

2

 = 








x + 
1

x

2

  4x.
1

x
 

   = 3
2
  4 

   = 9  4 = 5 

                        x  
1

x
 = 5   (Ans.) 

x  
1

x
 = 5 

 








x  
1

x

3

 = ( )5
3
  

x
3
  

1

x
3  3.x.

1

x
 








x  
1

x
 = 5 5

x
3
  

1

x
3  3.1. 5 = 5 5  









 x  
1

x
 = 5  

x
3
  

1

x
3 = 5 5   + 3 5   

x
3
  

1

x
3 = 8 5 

  x
3
  

1

x
3 = 8 5 

x + 
1

x
 = 3 

  








x + 
1

x

3

 = (3)
3

x
3
 + 

1

x
3 + 3.x.

1

x
 








x + 
1

x
 = 27 

 x
3
 + 

1

x
3 + 3.1.3 = 27 

 x
3
 + 

1

x
3 = 27  9 = 18 

  x
3
 + 

1

x
3 = 18 

 x
3
  

1

x
3 = 8 5 

  x
6
  

1

x
6 = (x

2
)
2
  






1

x
3

2

= 








x
3
 + 

1

x
3








x
3
  

1

x
3  

  = 18  8 5 = 144 5 (Ans.) 

 x + 
1

x
 3 

x
2
 + 

1

x
2 

x  
1

x

x
6
 + 1

x
3   
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x + 
1

x
 = 3 

 x
2
 + 

1

x
2 = 









x + 
1

x

2

  2.x.
1

x
 

  = (3)
2
  2.1 = 9  2 = 7 (Ans.) 

x  
1

x
 









x  
1

x

2

 = 








x + 
1

x

2

  4.x.
1

x
 

  = (3)
2
  4.1 = 9  4 = 5 (Ans.) 

x
6
 + 1

x
3  = 

x
6

x
3 + 

1

x
3 = x

3
 + 

1

x
3 

  = 








x + 
1

x

3

  3.x.
1

x
 








x + 
1

x
 

  = (3)
3
  3.1.3 = 27  9 = 18 (Ans.) 

 a
2
  6a + 1 = 0

a + 
1

a
 

a
3
 + 

1

a
3 = 198









a
4
 + 

1

a
4   
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a
2
  6a + 1 = 0

  a
2
 + 1 = 6a 



  
a

2

a
 + 

1

a
 = 

6a

a
 a 

 a + 
1

a
 = 6 (Ans.) 

a
3
 + 

1

a
3 = 









a + 
1

a

3

  3.a.
1

a
 








a + 
1

a
  

  = (6)
3
  3.6  

= 216  18 = 198 = 

 a
3
 + 

1

a
3 = 198 

a + 
1

a
 = 6

  








a + 
1

a

2

 = (6)
2
 

  a
2
 + 2a.

1

a
 + 

1

a
2 = 36 

  a
2
 + 

1

a
2 = 36  2 

  








a
2
 + 

1

a
2

2

 = (34)
2
 

  (a
2
)
2
 + 2.a

2
.
1

a
2 + 







1

a
2

2
 = 1156 

  a
4
 + 

1

a
4 = 1156  2 

   a
4
 + 

1

a
4 = 1154 (Ans.) 

 2x + 
2

x
 = 5 

2x  
2

x
 = 

8








x
3
  

1

x
3  = 63.

63








8x
3
 + 

8

x
3  = 65









8x
3
  

8

x
3 .  
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2x + 
2

x
 = 5 

  2








x + 
1

x
 = 5 

  x + 
1

x
 = 

5

2
 

 








x  
1

x

2

 = 








x + 
1

x

2

 4.x.
1

x
 

  = 





5

2

2

  4 = 
25

4
  4 = 

9

4
 

  x  
1

x
 =  

3

2
 

  2x
2

x
 =  

3  2

2
 

   2x  
2

x
 =  3 (Ans.) 

 = 8








x
3
  

1

x
3  

  =8
















x  
1

x

3

 + 3.x.
1

x
 








x  
1

x
 

  = 8













3

2

3

 + 3  
3

2
 

  = 8






27

8
 + 

9

2
 = 8







27 + 36

8
 = 8  

63

8
 = 63 

  =

  8








x
3
  

1

x
3  = 63

 = 63 








8x
3
 + 

8

x
3  

  = 63








(2x)
3
 + 





2

x

3

 

  = 63 
















2x + 
2

x

3

  3.2x.
2

x







2x + 
2

x
  

  = 63(5
3
  12  5) 

  = 63(125  60) = 63  65 

  = 65








8x
3
  

8

x
3  = 65









(2x)
3
 





2

x

3

 

  = 65 
















2x  
2

x

3

 + 3.2x.
2

x







2x  
2

x
 

  = 65  (3
3
 + 12  3) 

  = 65 (27 + 36) = 65  63 

63








8x
3
 + 

8

x
3  = 65









8x
3
  

8

x
3  
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 x
2
  4x + 1 = 0 

x + 
1

x
 





x
3
 + 

1

x
3 









x  
1

x
 








x
2
 

1

x
2  + 









x
2
 +

1

x
2  = 62   

4, 52 

 x + y = 5 xy = 6 

(x + y)
3
 

x
3
 + y

3
 

x
3
 + y

3
 + 4 (x  y)

2
 3(x

2
 + y

2
) = 0

  

125, 35 

 a x (a  x)

10, 8 9. 

a
3
 + x

3
 a

3
  x

3
 

(x + a)(x
2
  ax + a

2
)(x  a)(x

2
 + ax + a

2
) =  

  

730; 728; 531440.  

 a a
2
  2a + 1 = 0 

a  

a + 
1

a
 

a
3
 + 

1

a
3 = a + 

1

a

a
6
 + 

1

a
6 = a

3
 + 

1

a
3 = a + 

1

a
.   

2 


